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Qz,Ep,Ms,Bt,Pl
Kfs,Ilm,Ttn,H2O

420

490
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730

800
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X(O )    

2

Sample PE-49

Qz,Ep,Ms,Bt,Pl
Kfs,Ttn,H2O

Qz,Amp,Ep,Ms,Bt
Pl,Kfs,Ttn,H2O

Qz,Amp,Ep,Ms
Pl,Kfs,Ttn,H2O

Qz,Amp,Ep,Ms,Pl
Kfs,Ttn,Ilm,H2O

Qz,Ep,Bt,Pl
Kfs,Ilm,H2O

Qz,Ep,Bt,Pl,Kfs
Ilm,Ttn,H2O

Qz,Ep,Bt,Pl
Kfs,Ilm,H2O

Qz,Ms,Bt,Pl
Kfs,Ilm,H2O

Qz,Bt,Pl,Kfs
Ilm,H2O

Qz,Bt,Pl,Kfs
Spl,Ilm,H2O Melt,Qz,Bt

Pl,Kfs,Ilm
Melt,Qz,Bt,Pl
Kfs,Spl,Ilm

Melt,Qz,Bt
Pl,Kfs,Hem,Ilm

Melt-in

Qz,Bt,Pl,Kfs
Ttn,H2O

Qz,Ms,Bt,Pl,Kfs
Ilm,Ttn,H2OQz,Ms,Bt,Pl,Kfs

Ilm,Ttn,Ru,H2O

Qz,Bt,Pl,Kfs
Ilm,Ttn,Ru,H2O

Qz,Bt,Pl,Kfs
Ttn,H2O

Qz,Bt,Pl,Kfs
Ilm,Hem,Ttn,H2O

Qz,Bt,Pl,Kfs,Ilm
Hem,Ttn,Ru,H2O

Spl-in

Ms-out

Amp-out

P= 4.75 kbar, H O = 1 wt% 2
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